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9. | ps] A Jm:p is 1rave|mg around a banked circular curve of rﬂd:@lh the center
af the circle aid 18 covered

rain (i.e. nctlm]eﬁs}. the jeep (m = | S oo P“"a-—
traveling willl @ constant speed v = 19.4 /%
shows the frant of the jeep coming towv,

{a) Dirasw the Tree-body diagram. [ 8 ‘ I;j '_Fl*-i
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(b} Determine the minimum angle © at which the road must be banked in order that the jecp not
slide off the road,
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{c) As the jeep is rounding the curve, it travels | 10 m, What is the work done h}' the m::rmal farce
as it travels that distance? e
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{d) After rounding the curve, the jeep travels along a straight sirech of road and accelerates from
its original speed to 28,0 mv's in 3000 sec. Calculate the work done by the engine during this
acceleration. Ipnurc air resistance,
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